t64_cqc_the3
(TMSALW3dEEGdn6759¢ZLeiRTGuaaCxs99d6)

October 27, 2020

Let m1_gc_langl : t=>0 be given. Let m2_subset_1 : t==>1=-1=>0 be given. Let
k9_gclangl : 1= be given. Let k3_cqc_-lang : 1=t be given. Let m1_subset_1 :
t=-1=0 be given. Let k2_qc.langl : 1= be given. Let k3_gc_langl : 1= be
given. Let k13_cqclang : t=1=-1= be given. Let k24_qgc_langl : 1=1=-1 be
given. Assume the following.

VX0.(ml_gclangl X0)=(VX1.(m2_subset_-1 X1 (k2_gc_langl
X0) (k3-gclangl X0))=(VX2.(m2_subset_-1 X2 (k2_qc_langl
X0) (k3_gclangl X0))=(VX3.(ml_subset_1 X3 (k9_gc_langl
X0))=(~(X1£X2)A((-X1 € k24_gclangl X0 X3)A(X1 € k24_gclangl
X0 (k13_cqclang X0 X3 X2)))))))
1)

Theorem 1

VX0.(ml_gelangl X0)=(VX1.(m2_subset_-1 X1 (k9_gclangl
X0) (k3-cqclang X0))=(VX2.(ml_subset_1 X2 (k9_gc_langl
X0))=(vX3.(m2_subset_1 X3 (k2_gc-langl X0) (k3_gc_langl
X0))=(vX4.(m2_subset_1 X4 (k2_qc-langl X0) (k3_gc_langl
X0))=(~(X1 = kl13_cqclang X0 X2 X3)A((X3AX4)N((-X4 € k24_gclangl
X0 X2)A(X4 € k24_gclangl X0 X1))))))))



